NPO Reg: 023429

P.O. Box 2096 Wingate Park, 0153 Pretoria

E-mail: finance@pretoriachineseschool.com

10 October 2022

Dear Parents,

#### Senior Preparatory (Grade 4 – 7) Stationery Packs 2023

Vuma Office Supplies has been appointed to supply stationery for Pretoria Chinese School. We would like to encourage parents to make use of the service from Vuma, as the items in their packs have been specifically chosen by the teaching staff. These items are not only of good quality but also at very competitive prices. Conveniently, the stationery packs are **delivered to the school** and will save you the effort of walking from shop to shop.

If you wish to order from Vuma, please check the attached list for your child's grade in 2023. Tick only the items you need to purchase (your child may still have certain items from this year). Complete the relevant details and return the form, along with proof of payment, in an envelope, to your child's teacher. Kindly note the following:

- Stationery orders <u>must be returned by **NO LATER**</u> than Wednesday 26 October 2022.
- NO Late orders will be accepted, please send directly to Vuma after this date.
- Please note that Vuma cannot guarantee stock if orders are late.
- Stationery packs can be collected from school on Monday 28 November 2022.
- Late collections must be picked up from Vuma office directly.

If you decide not to make use of Vuma's services, please ensure that you purchase the specific items as specified on the stationery list. (NO erasable pens, NO Clicking pens, NO tippex!)

Students <u>must have</u> their stationery with them on the **first day of school next year, Wednesday 11 January 2023**, as normal teaching will commence.

## **Additional Information**

Please label all items of stationery <u>clearly</u> (i.e. <u>each</u> pencil, crayon, etc.)

Values Diversity

- Please supply an empty 2L ice cream container (per child, with student's name marked on it) to be kept in the classroom.
- PLEASE <u>DO NOT</u> COVER BOOKS. Write student's name on <u>inside cover</u> of all books.
   Teachers will provide front covers for all books, after which the books will be sent home to be covered in plastic.

Thank you for your co-operation.

Yours sincerely,

Mrs L. Curwen

Deputy Principal: Prep. School

Mrs J. Neethling
Principal and Director of Business
& Administration









Fax: 012 430 5325

Name of School:			PRETORIA CHINE	ESE SCHOOL	
Name & Surname of Learner:					
Grade in 2023:		GRADE 7			
Tel:	(h)		(w)		(cell)

# IMPORTANT: CLOSING DATE FOR STATIONERY ORDERS WEDNESDAY 26 OCTOBER 2022

(Orders after this date will NOT be accepted)

## PLEASE DO NOT PAY THE SCHOOL

Banking Details (NO CHEQUES)

Account Holder: Vuma Furniture Projects (Pty) Ltd

FNB (Cheque Account)

**Account Number:** 628 7076 6098

Branch Code: 210554

Reference: Name & Surname, Grade (in 2023), SP027

Credit Card Details					
Name of Cardholder:					
Card Number:					
Expiry Date:		CVV Number:			
	MM/Y	(Last 3	digits on back of card)		
Amount to be debited:	R	Date:			
I give Vuma permission t	o debit my credi <sup>.</sup>	card account with the above	ementioned amount.		
Signature of Account H	older:				

### Terms & Conditions:

- Stationery orders will be delivered to school on Monday 28 November 2022.
- All orders must be returned to your child's teacher in an envelope, with payment or proof thereof.
- Please ensure that the **CORRECT AMOUNT** is paid, either into <u>Vuma's account</u> or in the envelope.
- Attach proof of payment to this order form.
- Keep a copy of your order for your own reference.
- For any queries please contact 012 430 5330.
- NO LATE ORDERS WILL BE ACCEPTED.

PLEASE NOTE THAT VUMA CANNOT GUARANTEE STOCK IF ORDERS ARE LATE.

# PRETORIA CHINISE SCHOOL STATIONERY REQUIREMENTS FOR 2023



Grade 7 Ref : SP027

Name of Pupil	Date :
Parent / Guardian:	T: 012 430 5330 F: 012 430 5325
Tel/Cell:	info@vumaoffice.co.za

QTY	CODE	DESCRIPTION	UNIT INCL	TOT INCL	TIC
		ENGLISH			
2	BTSBK39	Book Counter A4 1Q Feint/M 96 Page	13.34	26.68	
1	PAD020	Pad Exam Punched 80Pg	12.71	12.71	
1	DISP040	Butterfly 50 Pocket A4 50MIC	46.65	46.65	
1	BTSDICO	Dictionary Oxford S A School 149903	133.69	133.69	
1	ZNONBTS	English Handbook & Study Guide (by Beryl Lutrin)	286.72	286.72	
		ISBN: 978-0-620-32583-7			
		AFRIKAANS			
2	BTSBK01	Book College A4 72pg FEINT/MARGIN	5.00	10.00	
1	PAD020	Pad Exam Punched 80Pg	12.71	12.71	1
1	QUOF025YE	Quotation Folder A4 YELLOW	3.90	3.90	1
1	DISP020	Butterfly 20 Pocket A4 50MIC	19.12	19.12	
1	BTSDICP	Dictionary Pharos Klein Eng/Afr 319901	155.61	155.61	1
		CHINESE			
1	BTSBK01	Book College A4 72pg FEINT/MARGIN	5.00	5.00	
1	DISP030	Butterfly 30 Pocket A4 50MIC	26.38	26.38	1
		MATHEMATICS		20.00	
1	BTSBK42	Book Counter A4 2Q Quad/M 192Page	20.38	20.38	
1	DISP030	Butterfly 30 Pocket A4 50MIC	26.38	26.38	1
1	CAL115A	Calculator CasioScientific Fx82ES PLUS	257.31	257.31	
1	MAT010	Math Set Croxley	24.71	24.71	
		NATURAL SCIENCE			
1	BTSBK01	Book College A4 72pg FEINT/MARGIN	5.00	5.00	
		LIFE SKILLS		0.00	
1	BTSBK01	Book College A4 72pg FEINT/MARGIN	5.00	5.00	
		SOCIAL SCIENCES		0.00	
3	BTSBK01	Book College A4 72pg FEINT/MARGIN	5.00	15.00	
1	DISP030	Butterfly 30 Pocket A4 50MIC	26.38	26.38	
		ART		20.00	
1	BKR9722	Acryclic Tube Paint set (75ml - 6 colours)BTX	119.74	119.74	
1	ABC900115	ART BOARD WHITE NYLON 10PC BRUSH SET	115.00	115.00	
3	BTSSPP	Pad Sketch A4 25'S Croxley JD545 120gm	30.59	91.77	
1	A114000	Faber Castell Goldfaber Sketch Pencils Set	62.71	62.71	1
		(2H,HB,B,2B,4B,6B)	+ +	02.71	
		MUSIC	+		
1	QUOF025	Quotation Folder A4 BLUE	3.90	3.90	
		COMPUTERS		5.90	

## PRETORIA CHINISE SCHOOL STATIONERY REQUIREMENTS FOR 2023



Grade 7 Ref : SP027

Name of Pupil	Date :
Parent / Guardian:	T: 012 430 5330 F: 012 430 5325
Tel/Cell:	info@vumaoffice.co.za

QTY	CODE	DESCRIPTION	UNIT INCL	TOT INCL	TICK
1	DISP020	Butterfly 20 Pocket A4 50MIC	19.12	19.12	
		EMS			
1	BTSBK01	Book College A4 72pg FEINT/MARGIN	5.00	5.00	
1	DISP010	Butterfly 10 Pocket A4 50MIC	12.31	12.31	
		GENERAL			
1	BTSHIL4	Highliters Set Of 4 Assorted	20.90	20.90	
1	BTSPCLCR	Pencils Colouring Faber 12's Long	26.60	26.60	
1	BTSKOKI8	Koki's Thin Giotto Turbo 12's 416000	25.16	25.16	
1	RUL020	Ruler 30Cm Tinted Shatterproof	2.04	2.04	
6	PEN081	PEN PILOT BP1-MEDIUM BLUE	3.20	19.20	
6	PENC030	Pencils Faber Castell Goldfaber Hb 1221	6.27	37.62	
1	BTSSHA1	Sharpener 1Hole With Container FaberA125	8.79	8.79	
4	GLU040	Glue Pritt 43G	35.71	142.84	
1	SCI012	Scissors Orange 165Mm Med	10.79	10.79	
3	BTSERAL	Eraser Large White Sleeved NEXX	2.09	6.27	
1	PUN125	Punch 2 Hole TY707A Small Eagle	21.68	21.68	,
4	BTSTISS200	Tissues 200'S Box	17.96	71.84	
1	PAD020	Pad Exam Punched 80Pg	12.71	12.71	
12	COV017	COVERS POLYPROP Donua FITTED A4	3.98	47.76	
Banking Details: PRICE PER PACK INCL VAT			2 003.08	<b>†</b>	

Vuma Furniture Projects (Pty) Ltd, FNB (Chq Acc) No: 628 7076 6098 Branch: 210554

Reference: Name & Surname, Grade (in 2023), School Pack Vuma Ref: SP027